Wednesday 2nd March 2022
L can develop written sentences.

What do you think about the sentence?

This is the nymph the mayfly nymph that
nibbled the algae that grew in the water that
filled the pond by Anna's house.




Wednesday 2nd March 2022
I can develop written sentences.
Let's rewrite as three basic sentences:

This is the nymph the mayfly nymph that
nibbled the algae that grew in the water that
filled the pond by Anna's house.

This is the nymph.

2.  The mayfly nymph nibbled the algae.

3 The algae grew in the water that filled
the pond by Anna's house.

How can we improve these sentences?



Wednesday 2nd March 2022
I can develop written sentences.
This is the nymph the mayfly nymph that nibbled the

algae that grew in the water that filled the pond by
Anna's house.

1 This is the nymph.

5> The mayfly nymph nibbled the algae.

3 The algae grew in the water that filled the pond by
Anna's house.




Extend and improve these clauses from the book.

1. This is the water.

2. The water is deep and still.

3. The water filled the pond.




Wednesday 2nd March 2022
L can develop written sentences.

Extend and improve these clauses from the book.

1. This is the algae.

2. The algae grew in the water.

3. The pond was by Anna's house.




Extend and improve these clauses from the book.

1. This is the nymph.

2. The mayfly nymph nibbled the algae.

Ext: Write another fabulous sentence about what
happened next.




Log on and find the school website Click

www.manor.walsall.sch.uk

HOME OUR SCHOOL PARENTS CURRICULU A CHILDREN KEY INFORMATION

PRIMARY SCHOOL




Click

Then login
and spend 10
minutes
learning your
timestables

Online learning



https://vimeo.com/506146810
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I can add lengths

What should your maths book look like?

— N
How do we draw a margin? Q Q

Where does our date go?




020322
I can add lengths

Ron builds a tower that is 14 cm tall.

Jack builds a tower than is 27 cm tall.
Ron puts his tower on top of Jack’s tower.
How tall is the tower altogether?
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Tommy needs to travel to his friend’s house.

He wants to take the shortest possible route.
Which way should Tommy go?




020322
I can add lengths

Miss Nicholson measured the height of four children in her class.
What is their total height?

1m and 1m and
D cm M em 50 mm 89 cm




Add lengths [ € srerris 115 om tall. Q
His brother i 20 cm toller.

Howr tall is Brett's brother?

Wirite your answer in metres and centimetres.

o Scott builds a bridge using planks.

120 om 75 cm

o Dora builds a tower thot measures 1 m and 5 cm. 2,;

Annie builds o tower thot measures 80 om.

a) What i the total length of his bridge? om
Dexter builds o tower that meoswres 95 om.
They put their towers together to make one high tower.
Howr tall is their new tower?

b) What i the height of his bridge? om

o Complete the additions.

al 25 an+ 75cm = m
b} 10 cm + 50 mm = om The new tower is cm tall.
c) 1 m 20com + an=2m
This is the some as m and ..
d) 52 mm + mm = & cm




o Red bricks are 50 mm long.

° Jack, Tommy ond Alex took part im a hop, skip ond
Blue bricks are 80 mm kong.

jump competition.

Their distonces are shown in the toble below.
Complete the table to show the totol distance each

50 mm &0 mm child trovelled.
a) Whitney and Evo moke potterns using the bricks. !‘ Name Hop Skip Jump Total
How long is each pottern? Jock 80 cm ol cm 1 m 20 cm
Give your answers in centimetres. Tommy 70 cm 1m 1m 10 cm
Alex 75 cm 75 cm im

v a Esther builds o tower using some bricks.
[ Whitney |

Whitney's pattern is . m e
120 B
Eva's pattern is cm lorng. mml ch

b) Drow some red and blue bricks to moke a pottern that

would be exoctly 36 cm long.
’ ’ " 10 mm 1) ¢ ot (5]

Her toweer is 24 om tall.

N ©

Which bricks could she howe used?

N

How many different answers can youw find? @
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Eva is building a tower using these
blocks.

I |k134 — ‘ "»71Am and | [ 1Tmand | (1m and’fd
‘ 60cm . 85cm ‘ cm
IO0mm 80mm 50 mm T

- Eva thinks their total height is 4 m and 55
cm

How many different ways can she build a
tower measuring 56 cm?

Can you write your calculations in mm
and cm?

Jack thinks their total height is 5 m and
-89 cm

Who is correct? Prove it.




Wednesday 2nd March 2022
I canli ¢ amilar fairy tal

Caperucita Roja

What fairy tale could this be?




She lived
with her
parents in a
house in a
big forest.

© £ uweuns moas




Un dia
Caperucita Roja
preparo unos

) pasteles para
su abuela

que estaba
enferma. <z

One day Little
Red Riding Hood

. made some cakes

for her
grandmother
who was unwell.



Caperucita Roja
decidid visitar a su

abuela y de camino a
casa de ella, se
encontro de repente
con un lobo. 4=

Little Red Riding Hood ! I

decided to visit her
grandmother. Whilst
she was walking to her
house she suddenly
met a wolf.

© & LwouAT ANcELS



IE|l lobo fue a
ver a la abuela

vestido de
Caperucita

Rojal <

The wolf went
to see the
grandmother
dressed as
Little Red
Riding Hood!

% &
© £ LAWGUASE ANGELS




IEl lobo a ) The wolf
llegar a la | arrived at
casa §€ S the house
comid a la ¥ and ate the

[ 4

PR ,
abuelital «* grandmother!

& £ Lweunc mcas



Granny - what big
eyes you have. RN

"All the better to
see you with."

® £ LANGUAST ANoELS



Abuelita - que
orejas tan
grandes
tienes. «:

“Es para oirte
mejor." <z

Granny - what big 8
ears you have. s

.......
.........

oooooooooooooo
...............

© £ Lweuncs AGaLS



Granny - what big
teeth you have!

"All the better to
eat you with!”

& 5 LANGUAST ANGELS




ICaperucita Little Red
Roja tenia Riding Hood
miedo y | was very
empezé a ] frightened and
pedir auxiliol 4= ah started to call
for help!




Mici Whilst this
EICS y happened a
Jaay, gdans woodcutter

por alli un
cazador. 4=

passed nearby.




Y al escuchar los gritos se
acercé a casa de la He heard the shouts,

abuelita y mato al lobo. = approached ’r'he
Sacd a la abuelita de la grandmother's house and
barriga del lobo y killed the wolf. He

Caperucita y su abuelita removed the grandmother
, from the belly of the wolf

and Little Red Riding Hood

@ B and her granny lived
Colorin, colorado este cuento se ha hGPP”Y ever after.
acabado. = a5

vivieron muy felices. =

P ® £ LANGUASE ANGELS




Y al escuchar los gritos se
acerco a casa de la
abuelita y mato al lobo.
Saco a la abuelita de la

barriga del lobo y

Caperucita y su abuelita
vivieron muy felices. =

Colorin, colorado este cuento se ha
acabado. o=

At the end of the last PowerPoint
slide you will find the following
text "Colorin, colorado este
cuento se ha acabado.”

This is the traditional ending for
Spanish fairy tales and is very
much the equivalent of our
traditional fairy tale ending 'and
they lived happily ever after’ or
‘and that is what happened..




Can you match the
images to their Spanish
form?




—/

Caperucita Roja

El lobo

—
El cazador La abuelita Los padres
La casa El bosque El diente




